AN ORDINANCE LEVYING ASSESSMENTS AGAINST VARIOUS PERSONS AND THEIR PROPERTY FOR THE PAYMENT OF A PART OF THE COST OF IMPROVING AND PAVING PORTIONS OF THE FOLLOWING ALLEYS IN THE CITY OF MESQUITE, TEXAS, TO-WIT:

ALLEY LOCATED BETWEEN: Town East Estates Addition No. 8, First Section, and Byrd Estates Addition No. 1 at rear of Lots 6 thru 15 and Part of Lot 5 in Block 6; at side of Lot 1 and at rear of Lots 1 thru 20 in Block 9; at rear of Lots 1 thru 4, in Block 10; and at rear of Lots 1 thru 3 and Part of Lot 4 in Block 3

PROVIDING FOR THE TIME WHEN SUCH ASSESSMENTS BECOME DUE AND PAYABLE, THE RATE OF INTEREST, AND FIXING A CHARGE AND LIEN AGAINST SAID PROPERTY AND MAKING SAID CHARGE A PERSONAL LIABILITY OF THE PROPERTY OWNERS OWNING PROPERTY ABUTTING ON SAID ALLEYS, AND PROVIDING FOR THE COLLECTION THEREOF, AND DECLARING AN EMERGENCY.

WHEREAS, heretofore a resolution was duly adopted by the City Council ordering the improvements of said alleys by paving with five (5) inch thick 3,000 P.S.I. reinforced concrete pavement eight (8) feet wide, and,

WHEREAS, pursuant to said resolution, specifications were prepart for said work by the Director of Public Works, filed with said Council examined, approved, and adopted by it, all as required by applicable law; and,

WHEREAS, thereafter in compliance with the law the Director of Public Works prepared his statements or lists showing the names of property owners upon said <u>alleys</u>, the description of their property, the total cost of the said improvements, the cost thereof per front foot and the cost of each property owners, said statements possessing all the other requisites required by law; and,

WHEREAS, thereafter the said statements were filed with the City Council and by them examined and approved and a resolution was passed by said Council determining the necessity of making an assessment for part of the cost of said pavement against property owners and their property, and fixing a time and providing for a hearing to such property owners, their agents, or attorneys; all in accordance with the terms of applicable law, at which hearing said owners were to be heard as to the benefits of the said improvements to their property.

as to any error or invalidity in said proceedings, or to any matt or thing connected with the said improvements; and,

WHEREAS, the said resolution in connection with the improven of said alleys was duly adopted in compliance with the law on the leth day of August , 19 65; and,

WHEREAS, thereafter, in accordance with the terms of the law the City Secretary of the City of Mesquite gave notice to the propowners on said alleys their agents and attorneys, of said hearir by publishing a copy of said resolution in the Texas Mesquiter, a weekly paper of general circulation in the City of Mesquite ten coprior to the days set for the hearing, to-wit, the 7th day of September, 1965; and the City Secretary also gave notice said hearing by posting letters containing the same to said prope owners, their agents and attorneys, ten days before the said hear provided, however, that any failure of the property owners to recall notices shall not invalidate these proceedings; and,

WHEREAS, said hearing was had at the time and place mentione in the said resolution and notice, to-wit, on the 7th day of September, 1965, at 2:80 P.M., at the Council Cham in the City Hall of the City of Mesquite, Texas, which hearing wa closed on the 7 day of September, 1965; and,

WHEREAS, at said hearing, all desiring to contest the assess correct the same, or in any manner be heard concerning the benefit thereof, or in any other matter, were heard, and errors and all matters of error or mistake or inequalities or other matters requing rectification which were called to the attention of the Counc were rectified and corrected;

Now, Therefore,

BE IT ORDAINED BY THE CITY COUNCIL OF THE CITY OF MESQUITE, TEXAS; THAT,

SECTION 1. That the action of the City Council closing the hearing and overruling the protests at the public hearing on the 7 day of September , 1965, in these proceedings is here ratified and confirmed by this ordinance. That the City Council, from the evidence, finds that the assessments herein levied shoul be made and levied against the respective parcels of property abutting upon the alleys hereinbelow mentioned and against the owners thereof, and that such assessments and charges are right a proper, and are substantially in proportion to the benefits to the respective parcels of property by means of the improvement in the or district for which such assessments are levied, and establish substantial justice and equality and uniformity between the resperowners of the respective properties and between all parties conce

considering the benefits received and burdens imposed, and further finds that in each case the abutting property assessed is specially benefited in enhanced value to the said properties by means of the said improvements in the unit or district upon which the particular property abuts, and for which assessment is levied and charge made, in a sum in excess of the said assessment and charge made against the same by this ordinance, and further finds that the apportionment of the cost of the improvements is in accordance with the law in forc in this City and the proceedings of the City heretofore had with reference to said improvements and is in all respects valid and regular.

mentikan ang bermatan kengalang pangkan di dipanggan penggan penggan penggan penggan penggan penggan penggan p

SECTION 2. There shall be and is hereby levied and assessed against the parcels of property hereinbelow mentioned, and against the real and true owners thereof (whether such owners be correctly named herein or not), the sums of money below mentioned and itemized shown opposite the description of the respective parcels of property, and the several amounts assessed against the same, and the owners thereof, as far as such owners are known, being as follows:

## SEE ATTACHED EXHIBIT "A"

SECTION 3. Where more than one person, firm or corporation owns an interest in any property above described, each said person, firm or corporation shall be personally liable only for its, his or her pro rata of the total assessment against such property in proportion as its, his or her respective interest bears to the total ownership of such property, and its, his or her respective interest in such property may be released from the assessment lien upon payment of such proportionate sum.

SECTION 4. The several sums above mentioned and assessed agains the said parcels of property and the owners thereof, and interest thereon at the rate of six per centum (6%) per annum, together with reasonable attorney's fees and costs of collection, if incurred, are hereby declared to be and are made a lien upon the respective parcels of property against which the same are assessed, and a personal liability and charge against the real and true owners of such property whether such owners be named herein or not, and the said liens shall be and constitute the first enforceable lien and claim against the property on which such assessments are levied, and shall be a first and paramount lien thereon, superior to all other liens and claims except State, County, School District and City ad valorem taxes.

The sums so assessed against the abutting property and the owners thereof, shall be and become due and payable as follows, to-wit: in twenty-four (24) equal installments, the first payable on or before thirty (30) days from the completion and acceptance of the improvements in the unit or district upon which the property abuts, and one

each month thereafter until the total amount is paid; deferred pays shall bear interest from the date of such completion and acceptance the rate of six per centum (6%) per annum, payable monthly with ea installment, so that upon the completion and acceptance of the imp ments in a particular unit or district, assessments against such completed and accepted unit or district shall be and become due an payable in such installments, and with interest from the date of s completion and acceptance. Provided, however, that any owner shall have the right to pay the entire assessment, or any installment the of, before maturity, by payment of principal and accrued interest, further provided that if default shall be made in the payment of a installment of principal or interest promptly as the same matures, then the entire amount of the assessment upon which such default in made shall, at the option of the said City of Mesquite, or its ass: be and become immediately due and payable, and shall be collectible together with reasonable attorneys' fees and costs of collection, : incurred,

SECTION 5. That if default be made in the payment of any of said sums hereby assessed against said property owners and their property, collection thereof shall be enforced either by the sale the said property by the Assessor and Collector of Taxes of the Citof Mesquite as near as possible in the manner provided for the sale of property for non-payment of ad valorem taxes; or at the option of the said City of Mesquite the payment of the said sums shall be enforced by suit in any court having jurisdiction.

payable by said property owners and the time and terms of payment, and to aid in the enforcement thereof, assignable certificates shall be issued by the City of Mesquite upon the completion and acceptant of the said work of improvement, which shall be executed by the Majattested by the City Secretary, under the impress of the corporate seal, and shall be payable to the City of Mesquite, or its assigns which certificate shall declare the said amounts and time and terms of payment thereof, and the said rate of interest payable thereof, and shall contain the name of the owner and the description of his property by Lot or Block Number or front feet thereof, or such description as may otherwise identify the same by reference to any other fact, and if said property shall be owned by an estate, then the description thereof as so owned shall be sufficient.

And the said certificates shall further provide that if defaul shall be made in the payment of any installment of principal or interest thereon, when due then at the option of the said City of Mesquite being the owner and holder thereof, the whole of the said assessment shall at once become due and payable and shall be collectible with reasonable attorney's fees and costs if incurred.

And the said certificates shall further set forth and evidence the said personal liability of the owner and the lien upon his premises, and shall provide that if default shall be made in the payment thereof, the same may be enforced either by sale of the property by the Tax Assessor and Collector of the City of Mesquite, as above recited, or by suit in any court having jurisdiction.

And the said certificates shall further recite that the proceedings with reference to making said improvements have been regularly had in compliance with the terms of the applicable law, and that all prerequisites to the fixing of the lien and claims of personal liability evidenced by such certificates have been performed, which recitals shall be evidence of the facts so recited and no further proof thereof shall be required.

That the said certificates shall also provide the amounts payable thereunder shall be paid to the Assessor and Collector of Taxes of the City of Mesquite, who shall credit said payments upon the said certificates, and shall immediately deposit the amounts so collected with the City Treasurer of the City of Mesquite, to be kept and held by him in a special fund, which is hereby designated as City of Mesquite Alley Improvement Fund, and which payments shall be by the Treasurer paid to the said City of Mesquite or other holder of the said certificates, on presentation thereof to him, duly credited by Assessor and Collector of Taxes, the said credit by said Assessor and Collector of Taxes being the Treasurer's Warranty for making such payment and the said City of Mesquite or other holder of said certificate, shall receipt in writing to said Treasurer when paid in full, together with all costs of collection.

And the said certificates shall further provide that the City of Mesquite shall exercise all legal power, when requested so to do by the holder of said certificate, to aid in the collection thereof; but the City of Mesquite shall in no wise be liable to the holder of said certificates or for any costs or expense in the premises, or for any failure of the said City Council or any of its officers in connection therewith.

Full power to make and levy reassessments, and to correct mistakes, errors, invalidaties or irregularities, either in the assessments or in the certificates issued in evidence thereof, is in accordance with the law in force in this City, vested in the City.

Frition 7. All assessments levied are a personal liability and charge against the real and true owners of the premises described, notwithstanding such owners may not be named, or may be incorrectly named.

SECTION 8. The assessments herein levied are made and levied under and by virtue of the terms, powers and provisions of an Act passed at the First Called Session of the Fortieth Legislature of the State of Texas, known as Chapter 106 of the Acts of said Session, with amendments thereto, now shown as Article 1105b of Vernon's Texas Civil Statutes, which said law has been adopted as an alternative method for the construction of street and alley improvements in the City of Mesquite, Texas, and Section 12 of Article III of the Charter of the City of Mesquite;

Section 12. The act by the Legislature of the State of Texas in 1927 and shown as Chapter 106, Acts of the First Called Session of the Fortieth Legislature, together with all amendments thereof, said Act with amendments being shown as Article 1105b, Vernon's Annotated Revised Civil Statutes of the State of Texas, is hereby embraced in and made a part of this Charter.

SECTION 9. The assessments so levied are for the improvements in the particular unit or district upon which the property described abuts, and the assessments for the improvements in one unit or district are in nowise related to or connected with the improvements in any other unit or district, and in making assessments and in holding said hearing, the amounts assessed for improvements in one unit or district have been in nowise affected by any fact in anywise connected with the improvements or the assessments therefore in any other unit or district.

SECTION 10. The fact that in order to finance these improvements in an expeditious manner creates an urgency and an emergency in the immediate preservation of public peace, health, and safety and required that the rules providing for ordinances to be read more than one time, or at more than one meeting, be suspended, and that this ordinance be passed as and take effect as an emergency measure, and such rules are accordingly suspended and this ordinance is passed as and shall take effect and be in force as an emergency measure, and shall be in force and effect immediately from and after its passage.

Surge Brance

**አ**ተተጀጸጥ•

City Secretary

-6-

- The state of the

## ASSESSMENT LIST

age and

					•
	OWNER'S NAME		FRONTAGE	UNIT COST	TOTAL C
· .	H. M. Parks 2803 Harlan Dr.	Block 10 Lot 4	146.42 ft.	\$1.60/ft.	\$234.27
•••	T. W. Moore 2807 Harlan Dr.	Lot 3	104.30 ft.	\$1.60	\$165.88
•	J. L. Smithey 2811 Harlan Dr.	Lot 2	60.00 ft.	\$1.60	\$ 96.00
	K. W. Johns 2815 Harlan Dr.	Lot 1	80.00 ft.	\$1.60	\$128.00
	J. J. Baugh 3043 Harlan Dr.	Block 9 Lot 1	99.56 ft.	\$1.60	\$159.30
	D. M. Champion 3039 Harlan Dr.	Lot 2	60.00 ft.	•	\$ 96.00
	D. W. Wofford 3035 Harlan Dr.	Lot 3		\$1.60	\$ 96.00
	C. A. Sears 3031 Harlan Dr.	Lot 4	60.00 ft.	\$1.60	\$ 96.00
	K. R. Kuhn 3027 Harlan Dr.	Lot 5	60.00 ft.	\$1.60	\$ 96.00
	G. C. Guffy 3023 Harlan Dr.	Lot 6	60.00 ft.	\$1.60	\$ 96.00
	A. B. Morgan 3019 Harlan Dr.	Lot 7	60.00 ft.	\$1.60	\$ 96.00
	B. J. Car <sup>3</sup> ton MonebandoBynd 3015 Harlan Dr.	Lot 8	60.00 ft.	\$1.60	\$ 96.00
. Carrie Marie Marie Carried	Thompson & Thompson 301. Harlan Dr.	Lot 9	60.00 ft.	\$1.60	\$ 96.00
	J. D. Bynum 3007 Harlan Dr.	Lot 10	60.00 ft.	\$1.60	\$ 96.00
	R. W. Truesdell 3003 Harlan Dr.	Lot 11	60.00 ft. \$	\$1.60	\$ 96.00

**新** 

**建**建于1000年100日

	Carlot and the second of the second of	1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1			
	OWNER'S NAME	PROPERTY <u>DESCRIPTION</u> Byrd Estates No. 1	FRONTAGE	UNIT COST	TOTAL COS
A	R. M. Zajac 2933 Harlan	Block 9 (cont'd) Lot 12		\$1.60/ft.	
	R. R. Whittimore 2929 Harlan Dr.	e Lot 13	60.00 ft.	\$1.60	\$ 96.00
	D. M. Wilson 2925 Harlan Dr.	Lot 14	60.00 ft.	\$1.60	\$ 96.00
	L. L. Morris 2921 Harlan Dr.	Lot 15	60.00 ft.	\$1.60	\$ 96.00
	J. H. Sullivan 2917 Harlan Dr.	Lot 16	60.00 ft.	\$1.60	\$ 96.00
	R. N. Coffman 2913 Harlan Dr.	Lot 17	60.00 ft.	\$1.60	\$ 96.00
)	R. C. Headrick 2909 Harlan Dr.	Lot 18	60.00 ft.	\$1.60	\$ 96.00
	J. R. Stapleton 2905 Harlan Dr.	Lot 19	60.00 ft.	\$1.60	\$ 96.00
	G. A. Harper 2901 Harlan Dr.	Lot 20	80.00 ft.	\$1.60	\$128.00
	J. F. Ashwood EXPERIMENTAL 3036 Harlan Dr.	Block 6 Lot 15	76.00 ft.	\$1.60	\$121.60
	C. A. Blankenshi 3030 Harlan Dr.	p Lot 14	15.00 ft.	\$1.60	\$ 24.00
	J. L. Evans 3140 Emily	Lot 13	60.00 ft.	\$1.60	\$ 96.00
	-R. A. Haars 3136 Emily	Lot 12	72.91 ft."	\$1.60	\$116.66
l	H. A. Tarver 3132 Emily	Lot 11	61.13 ft.	\$1.60	\$ 97.81
-	C. J. Leath 3128 Emily	Lot 10	60.00 ft.	\$1.60	\$ 96.00

The state of the s

and the second s